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BREAE  NUT 48 BEIERF : *v DRV FUTRIAT
STHEIR « #IFR%EE L HDCP&IIR
BELA—IL
oOUT DRBA@GBDE®Q I NORBAGEDEO® DRBB@EEDE®O
PAR 4435534414 PAR5443543414 PAR
IE {iz B E A OUT|I N GROSS | HDCP NET ZE
72 BiaH EBF 400 44 84 15.0 69.0
EEHBBEHF KT 42| 47 89 20.0 69.0
I|BM  EEE 43 43 86 16.0 70.0
M| ERE 43 47 90 20.0 70.0
SGr|mnmk 43 44 87 16.0 71.0
6hIjEAE HF 43 55 08 27.0 71.0
I|FEE &= 40, 42 82 10.0 72.0
8fi|FxH th 42| 49 91 19.0 72.0
OfFr|IIlUE A 40 38 78 5.0 73.0
10Z(HiFE %81 46| 44 90 17.0 73.0
N E L 42| 43 85 12.0 73.0
1242|IUE REF 48] 39 87 13.0 74.0
1362|545 46| 45 91 16.0 75.0
46|=8 Z=E 53 54 107 32.0 75.0
1561 R WFE 45 41 86 10.0 76.0
1647 KE HE 43 40 83 7.0 76.0
17604 B=E 41| 44 85 9.0 76.0
18HI(fA/R 1EZ 41| 48 89 13.0 76.0
19L|fkE HE 48 43 91 14.0 77.0
206I| K% 1EKER 46| 43 89 12.0 77.0
2160|656 H BBE 51| 49 100 23.0 77.0
22fi|FEH EHE 43 43 86 9.0 77.0
26| =I 3 45 47 92 15.0 77.0
2441|5m7k  FORE 42| 48 90 13.0 77.0
25 |8k EH B 47| 40 87 9.0 78.0
26GZ| T EEE 44 40 84 6.0 78.0
21| &S 48| 46 94 16.0 78.0
28GI(FAH 1 43| 44 87 9.0 78.0
20 i#E)Il  NE|F 42| 44 86 8.0 78.0
04z|lUE & 44| 47 91 13.0 78.0
SIGLIAFT FRXR A1 47 88 10.0 78.0
NMIRE E# A1l 47 88 10.0 78.0
3L\l B 42| 51 93 15.0 78.0
SAGL|LLE FTA 64 51 115 36.0 79.0
35fi|AE  EBA 47| 45 92 13.0 79.0
LI EF 48 52 100 21.0 79.0
STLEZ|HP = 56| 47 103 22.0 81.0
BLLIHAE & 52| 46 98 17.0 81.0
9Gzf/hvep  JIEF 47| 49 96 15.0 81.0
A0fZ|FNE  JEIE 47| 48 95 13.0 82.0
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BREAE  NUT 48 BEIERF : *v DRV FUTRIAT

STHEIR « #IFR%EE L HDCP&IIR

BELA—IL
oOUT DRBA@GBDE®Q I NORBAGEDEO® DRBB@EEDE®O
PAR 4435534414 PAR5443543414 PAR

IE {iz B E A OUT|I N GROSS | HDCP NET ZE
NEI[AE &' 52 54 106 240 82.0
12| &R &RER 50[ 53 103 21.0 82.0
AIGIMAIR — 44| 48 92 10.0 82.0
AGI|HERY  fiT 52| 44 96 13.0 83.0
AS1))gG TR 52 48 100 16.0 84.0
46hI(EAE  EiE 51| 49 100 16.0 84.0
ATRI|/MER TR 50, 50 100 16.0 84.0
ABHI|NFE =2 47| 48 95 11.0 84.0
GI(KIE B 49 53 102 17.0 85.0
S506I|& R W= 48| 48 96 10.0 86.0
S161|h 4 =M 46 52 98 12.0 86.0
S52GI|fEE Rl 52 49 101 13.0 88.0
S3Gr|hIRE  HE4 52( 55 107 19.0 88.0
SAGI[HE EE 47| 56 103 15.0 88.0
S5GI[E4E —ih 48 51 99 10.0 89.0
S56{|ILE FOX 51| 49 100 10.0 90.0

BREEL =E 46| 49 95 32.0 63.0

BREMK FH 47| 48 95 26.0 69.0

BIRERET S8 51| 42 93 15.0 78.0

EREARNTE it 51| 45 96 11.0 85.0

BERELA BA 55 62 117 25.0 92.0

BEREAAN  EE 66| 50 116 22.0 94.0
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